G'—ﬁu—bi—
T Z (&

=

@ = (k4 @ @ 4] X

Should be
measured to 3"
@ chamfer ]

TYPICAL RAILING PLAN VIEW

131°'-0"

= PAY LIMIT ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM
[Z] [Lz]
19'-5" 231" 23'—-11" 23'—-11" 23'—11”" 15'=7 1/4"
l_.i-s_z" EXP JOINT I@ 45 deg F —te——3,/4" ERED JOINT (typ) @ 45 deg F 2" EXP JOINT-@ 45 .
e = o — I = o — = i T — = T : o ; X = deg p
o 0 I I I T I s |
—aar 1 I I I 1 ) I - T 1 I = T 11 i 2 I I I I ’A T L4
= 5 iy o — = = p = po = - -y e = p= - - - p= = = P = —— '"'.‘T“
i
Il
4 i
30" (16) SPACES @ 8'-0" = 128'-0" 3'—0"
1

TYPICAL RAILING ELEVATION

LOOKING AT FACE OF RAIL FROM CENTERLINE OF ROAD
BOTH SIDES TYPICAL

| BUBMITTAL REVIEW

Per rail note 4 in
the contract plans,
rail tubing shall be
attached to a min

of 3 posts

BILL_OF _MATERIAL Review is only for general conformity to the
ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM (262 LF) contract drawings and specifications and shall
not relieve the contractor of his entire
Qy _ mk Description Spec. responsibility under the contract, including
34 BRIDGE RAILING POSTW6x 25 x 3-5.375" OAH WITH 1 x 10x 14 BASE PLATE (GLV) AT09 gr 50 among other things, dimensions tobe
10 SPLICE TUBE (FOR 8X4 RAIL) HSS 7x 3k 3/8 x 1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) | AB00grB confirmed and correlaled at the jobsite, and
30 SPLICE TUBE (FOR 4X4 RAIL) HSS 3 x 3 x 5/16 x_1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) | A500 gr B information that pertains to the fabrication
> = ST e ST processes or to techniques of construction.
RAIL TUBE 8 x 4 x 5/16 (GALV) 19-5.000"
8 L2 |RAIL TUBE 8 x 4 x 5/16 (GALV) 23-11.000" LG A500 gr B [1 NO EXCEPTIONS TAKEN
2 L3 [RAIL TUBE 8 x 4 x 5/16 (GALV) 15-7.250" LG A500 gr B 0 MAKE CORRECTIONS NOTED
6 L1 [RAIL TUBE 4 x 4 x 1/4 (GALV) 19-5.000" LG AS00 gr B ASISF};\F;TAII\ESLPI\ET‘%B&%?UIRED
24 L2 [RAIL TUBE 4 x 4 x 1/4 (GALV) 23-11.000" LG AS500 gr B VRLENLY 7 BEN
6 L3 |RAIL TUBE 4 x 4 x 1/4 (GALV) 15-7.250" LG A500 or B O REJECTED - SEE REMARKS
$ ] RAT
34 ANCHOR SPACER PLATE PL 0.375 x 13.000 x 9.375 AT09 gr 36 BY: %‘E/ﬁjtq lﬁ%"/‘
138 ANCHOR STUD DBL END PART THREAD - 1" DIA x 14.000 LG (GLV) Ad49 ® ey ="
276 HEAVY HEXNUT 1" (GLV) A563 DH DATE: +/1z /_z_g/g':
138 ROUND WASHER (SAE) - 1" DIA SMALL (GLV) F436 o———
138 JAM NUT 17 (GALV) A563 DH
272 ROUND HEAD POST BOLT slot or wrench head - na shoulder 34" DIA x 6" LG. FULL BODY {GLV) A449 | A5
272 LOCK NUT 34" (GLV) A563 DH
212 (3/4") PLAIN ROUND WASHER TYPE A (GALV) 0.750" DIA USS LARGE (H-CARBCN) F844
160 (5/8") HEXHEAD BOLT (GALV) 0.625" DIA x 1.750" LG. A325
160 (5/8") PLAIN ROUND WASHER (GALV) 0.625' USS LARGE F844 et
80 314" SPACER PIPE 0.750” DIA_ (SCH 40) x 1/2' LG. A53 gr B el pimiel 2l
34 BEARING PAD 0.125" THICK x 10.000 x 14.000 {(NEOPRENE 80 duro +/-10) aashto M251 SIS IONS

3

—

HIGHWAY SAFETY CORP

GLASTONBURY, CT
860-633-9445

ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM )
ITEM 621,75 GUARDRALL APPROACH SECTION, GALYANIZED 4 RAIL Box BEaM | )&3 CERTIFIED
TH1 EAST RIVER ROAD BRIDGE #19 < FABRICATOR

TOWN OF LINCOLN, VT ADDISON COUNTY

I——
(508 CONTRAGIOR

BRF 0188 (B) oz o0 o
2041
T
LAFAYETTE | 1 of 4

DRAWN

PAR ]% [™™ 03-27-15 ™ wone [ o




7"® HOLES NOTES:
1'—g" ¢ RAIL POST IN RAIL (TYP.)
. e O N el SLOTTED 1. ALL WORK AND MATERIALS SHALL CONFORM TO SECTION 525.
RY < 134 3% TS 4 x 4 x 1/4 2 3% 8 (TYp.)
~ / = "“l : 2. PRIOR TO GALVANIZING, ALL EXPOSED CUT OR SHEARED EDGES SHALL BE
g } — ' - ROUNDED TO A 1/16” RADIUS AND BE FREE OF BURRS.
— =11 of ¢ (5 B Hord 3
__t 4] I . i 3. ALL POSTS SHALL BE SET NDR?IA” I 5
. < : 1l TS 4 x 4 x 1/4 = | B i
N I N N I / x4/ |- i 4. SECTIONS OF RAIL TUBE SHALL BE ATTACHED [0 A MINIMUM OF 2) RAIL
| J? - | o 7 i POSTS AND PREFERABLY TO AT LEAST FOUR (4) PRSTS.
— eAll— z P ol i
Y el + i) OHO slotted holes for 5. AT INTERIOR SPLICES, PIPE SPACERS SHALL BE USED ON ONLY ONE SIDE OF THE
W6 x 25— B H ! R ii : SPLICE TO ALLOW MOVEMENT ON THAT SIDE, THE-FR-ANB—BOTIGM RAIL SHALL RECEIVE
RAIL POST Y o ol TS 8 x 4 x 5/16 4 i approach rail POStS | 7 s TREATMENT, AT END SPLICES PIPE SPACERS. SHALL BE USED ON BOTH SIDE OF
™ a0 N 2
: = n : ! / T i 2 THE SPLICE TO ALLOW MOVEMENT ON EACH SIDE.
‘ol 30 - i ® i T : el 2 o
5 M ' | | toll | Allowed per section o Sty =6, HOLES IN RAILS FOR RAIL TUBE ATTACHMENT SHALL BE FIELD—DRILLED, HOLES
i — LR i 9 = A - |B-B /zr i | SHALL BE COATED WITH AND APPROVED ZINC—RICH PAINT DURING INSTALLATION.
b ino! - 1
0.75"% ROUND HEAD' BOLT WITH - ; A FOR REFLECTOR 306—““-—“—-_13/16 dia. holes 7. RAIL POST ANCHORING Nbﬁ'l‘ at least two coats of }lT AND GIVEN AN
HEX NUT & TYPE A WIDE WASHER / . Y o T 15 ] o I (typ) ADDITIONAL ONE~EIGHTH TURN.
MIN. .813" 1.D., 2" 0.D., .156" THICK) - o - i ,
( o (8) PER ggST (t ; 5 ol i / i 8. RAIL TUBES SHALL BE ATTACHED USING 3/4" FULL DIAMETER
yp) T i - ol . - 4
FIELD DRILL 7/8"8 HOLE IN TUBE —||- - o + lolio! + olo S 116_ MRER THN THBOLT £ OR\ARE-TUEE. HOLES IN POSTS
SFE NOTE #6 L i i :
z N ) i 1 I
i & N o . h §. ANY BENDING OR CURVING OF RAIL SHALL BE DONE IN A FABRICATION PLANT IN
i ey W 0 " ; . i i - ACCORDANCE WITH SUBMITTED PROCEDURES,
e a A
<
| 4 ] ; FRONT POST ELEVATION 10. THE MINIMUM DISTANCE FROM A POST TO AN EXPANSION JOINT SHALL BE SUCH
. A a . ” TO MAINTAIN MINIMUM EDGE DISTANCE OF 5" FROM ANY ANCHOR STUD TO THE END
N - OF THE SLAB, OR TO THE EXPANSION JOINT RECESS POUR, IF ONE IS USED.
n - - —
7 1" ANCHOR ROD (TYP.) < in- P b= Rail tubing shall meet the longitudinal 11. A DELINEATOR (SEE VAOT STANDARD DRAWING G—1 FOR DETAILS) SHALL BE
ANCHOR PLATE —1 " " - 4 - ; INSTALLED AT NEAREST POST TO 30 FT SPACING. WHITE IS TO BE INSTALLED ON THE
7 5/8" |6 3/8 . v sy .
/ / Jo—10 ' N\ 24 ﬁ)harp{)\;n()tgh reqwremelnts 0}: 15 ft. DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE INSTALLED ON THE
. ) DRIVER'S LEFT. PAYMENT SHALL BE INCIDENTAL TO OTHER ITEMS.
2 PARTIAL RAIL ELEVATION s at €g t,eSt G LR all be
T . e . o - taken after forming the tubes. F =
s SUBMITTAL REV " |
R IEW MATERIALS
e . RAIL TUBES .ot orerreerees oo ASTM AS00 GRADE B OR ASTM AS01
coe:tlfav(\:’tl(sjonl}" for geréeral conformity to the RAIL POSTS AND BASE PLATES..o.roooooorsoossmorresroeessrooes ASTM A709/A709M, GRADE 50
rawings a specificali 3" - : SLOT OR ALL OTHER SHAPES AND PLATES. ASTM A709/A709M, GARDE 36
STEEL HEX NUT AND not relieve th 5 ;n bpf.u[l_callopsg;bd hall 4 ° ey WRENCH HEAD ANCHOR  STUDS... oo everemaccsesensasssssssatsaseemasieessasananssssssassansan / ............. ASTM A449
1"_8 THREAD 1" STANDARD WASHER ibili € contractor of his entire %" MAX~ ALL OTHER BOLTS (UNLESS NOTED)..... socemmeorrerreremsermsereresene AASHTO M164, TYPE1
N res S the ¢ AR I
4.500 LG TOP 1" ANCHOR ROD (typ.) ponsibility u,nde' [!)C contract, in 0TS R NUTS FOR AASHTO M164 BOLTS AND FOR ANCHOR STUDS SHALL COMPLY WITH
2.500 LG BOTTOM _ among other things, dimensions tob¢ & AASTHO M291 (ASTM AS63).
L _‘ ""! E con [frme_d and Corl'e!a}'ed atthejobsjte,and %" SLOT| 8" WASHERS SHALL COMPLY WITH AASHTO M293 (ASTM F436) SPECIFCATIONS.
. . s ] information that pertains to the fabrig¢ation 6" LA
S i roc X a 1/8" PAD SHALL COMPLY WITH STANDARD SPECIFICATION SUBSECTION 731.01 OR
= o JAMB NUT processes or to techniques of construction. 731.02.
ANCHOR PLATE " RAIL POSTS AND BASE PLATES SHALL BE TESTED FOR IMPACT PROPERTIES IN
J % U NO EXCEPTIONS TAKEN RUUNU HEAD BOLT ACCORDANCE WITH ASTM A370 CHARPY IMPACT TESTING USING TYPE A SPECIMEN.
| o ' STANDARD HEX NUTS o % e MAKE CORRECTIONS NOTEE .
POST_ANCHOR ASSEMBLY o WE{}ESUBM[TTAL NOT REQUIRED &
" L1 END AND RESUBMIT - 158 x4 [x 516"
t RO i S 4 x 4
| Y] AEaRETECTED - SEE REMARKS ; TS 3 x3 e . x
= - = o =
0 AlV I NC, %" % "A" s|OTIED  TACK WELD LOCK O, & %70 @
L&- —é)—| BY: & HOLE IN RAIL TUBEJ(TYP.} NUT AT gg{gg . TAPPED HOLE
3 i %' x 1% .
1n 65 L DATE: %78 TAPPED HOLES i %9 x 1% %"¢ PIPE SPACER
. Z_B— 2 1 i 20L{ N SPLICE BAR (TP — CAP. SCREW SRS
19 He il N SPLICE TUBE
%o V. C\ / %76 HOLE (typ.) ANCHOR PLATE s e T paiesy SECTION TYPICAL SPLICE
: JLase X 1] 3 <P ASSEMBLY
ol ® 3 %'0 x 1%" CAP SCREW ST T T | T
. ©) /ws x 25 o s et . SEE NOTE #5
00 My % | (OUTER HOLES ONLY) HOLE 27lpl ¢ B | 8 c |o —
2. I] L [ff'] 7——<TACK WELD g HIGHWAY SAFETY CORP
n == GLASTONBURY, CT
A to o] Do Y= RAIL_SPLICE  se norE #5 Ld Ss0-s33-9445
£ %' PIPE SPACER ITEM 525.34 BRIOGE RAILING, GALVANIZED 4 RAIL BOX BEAM
68 ) STANDARD SCH. 40 %" LONG (GALY) = SELICE 8 EXPANSION_JOINT_TABLE WTEM 621.73 GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAlL 80X uaw | )63 CERTIFIED
1} ek , WASHER (1.050" O.0. 824 D)) i SC - M N A ) e S W TH1 EAST RIVER ROAD BRIDGE #19 < FABRICATOR
NOLE: ' o - INTERIOR |2 1/2" | 4° 47 2 34" | 18" TOWN OF LINCOLN, VT ADDISON COUNTY
BEARING PAD TO HAVE SAME * <3 1/4" 2 1/2" 4" 4" 2" 27 1'-8" BRF 0188 (8) Hsc JoB wo.
- P?OS..T B1A4?EB AZEAFT&TE SHAPE AND DIMENSIONS AS ‘—SPIS_IECCETIOBSLT B == il 2041
X X - — e
BASE PLATE. except thickness = O "I = TOTAL REQUIRED MOVEMENT ros cmos LAFAYETTE WZN of 4
1/8" T M pAR | [*® 03-27-15[** wowe [ D




BRIDGE RAIL 29'—1" = LIMITS ITEM 621.73 GUARDRAIL APPROACH SECTION GALVANIZED 4 RAIL BOX BEAM ,
TTEM 525.34
INSTALL END CAPS —
(TOP 3 RAILS)
WOOD POST & BLOCKOUT — LOWER RAIL
PO1 P02 P03 P04 - - . ==
X X
_ Y T Y YIRUBAAAR Bl B B i
= = —
8'-5 1/4"

TOP RAIL
2ND RAIL
3RD RAIL
BOTTOM RAIL

@l SHOWN
OPPOSITE HAND
=] ]

=
I

7.687" TOP RAIL
3.312 2ND RAIL
0.250" 3RD RAIL
0.000" LOWER RAIL

SLOPE

CONNECTION,

]l PLATE |
2'-4"

3'-0" (3) SPACES g 12GA DOUBLE NESTED THRIE BEAM 12'-6" 5'-3" LAP_SECTIONS
. @ 22" = 6-6" v 70 GA TRANSITION IN DIRECTION OF TRAFFIC
1'-86 1/2" I;U gé .
1 ey 4 BQQ;/_E"”)" __@ og"
— oy . -
: : e e s 2 5 e S S 2= : e r/_ =
| AT P 2 o o ot = i =
[T "i’“i:f'l"l I"l l"I "l'\\. 1 im : I I 1 L < 1 5 | END CAP LOWER RAIL
,I.”%M'II I T I = N Y Y O 1 T T1 I o
; L : :
il Sl | I@ (6) SPACES © 1'~6 3/4" 31 /2" | 31 1/2" | 31 172" 6'=3" (typ)
i AR ] =9-4 1/2
) : |~ :
11t 1 1 ]
L6 E |: i It SPLICE LOWER RAIL
i I
L/ | i i
11 ] )’ ! i
R =l I
L APPROACH RAIL @ WW. 2 & 3
W.W. 1 APPROACH RAIL IS SIMILAR BUT OPPOSITE HAND
1.750 8

BILL OF MATERIAL

ITEM 621.73 GUARDRAIL APPROACH SECTION GALVANIZED

4 RAIL BOX BEAM (3 EA)

MITER CUT & WELD TUBE

TO APROXIMATE 7’ RADIUS
(2'-2" TYP CHORD LENGTHS SPACED /
TO AVOID INTERFERENCE WITH POSTS)

USE 10° ANGLED-/
FLAREBACK

SPLICES HERE

1'=1"

18'-6" =

INSTALL END CAPS — s
2" EXP JOINT

_ % LI LT TT—1] 8 — I — T
J7T\< I T I T I T T 1 '

\ |"1 I..I |"| I - - - o
/ 10 deg ANGLED SPLICE — o S = : JI : — - R
- I Per contract plans Sheet 20, L

rails shall be sloped to match

finished grade.

Qty mk D Spec. 1a”
3 P01 |W6x25 APPROACH POST -#1 x 88" OAL (GALV) AT709 gr 50 : i : : i |r : ] : I
3 P02 |W6x25 APPROACH POST-#2 x 88" OAL (GALV) A709 gr 50 TOP VIEW ! % | i i [
3 P03 |W6x25 APPROACH POST-#3 X _8-8" OAL (GALY) A709 gr 50 NOT TO SCALE L LJ L L L L R d
3 P04 |W6x25 APPROACH POST-#4 x 8-8" OAL (GALV) A709 gr 50 o o  on g e
ANGLED FLAREBACK SPLICE DETAIL -0 (7) SPACES @ 2'-2" = 152 | §'-0
: LS gPPER RAIL APPROACH TUTlBJE TS4x 4x 1/4" S‘GALV,) 9'4,000” IOAL A500 Gr. B SEE SHEET 2 FOR ADDITIONAL SPLICE DIMENSIONS I
e APPROACH RAIL @ W.W. 4
3 L8 |LOWER RAIL APPROACH TUBE TS 4 x 4 X 1/4" (GALV.) 8-11.625" OAL ABD0 Gr. B
2 L9R _ |RIGHT HAND FLAREBACK TS 4 x 4 x 1/4 (GLV) 27-0_4;75" OAL A500 Gr. B BILL OF MATERIAL
1 LSL  [LEFT HAND FLAREBACK TS 4 X 4 x 174 (GLV) 27-0.4375" OAL A500 Gr. B ITEM 621.73 GUARDRAIL APPROACH SECTION CALVANIZED 4 RAIL BOX BEAM (1 EA @ WW 4)
g :ONNECHON PLATE PL 0.375° x 20.000" % 27.000" (GALY) A700 gr 36 | - — S = z’ﬁﬁiEVIE-Wm i i ;c;)- mk Descripion Spec
ND CAP FOR 8x4 TUBE 0.187 THICK PLATE 8.000 x 4,000 w/ WELDED TABS (GALV) A709 gr 36 UBM“T WW4__|W6x25 APPROACH POST x_ 88° DAL(GALY) A708 o7 50
9 |END CAP FOR 4x4 TUBE 0,187 THICK PLATE 4.000 x 4,000 w/ WELDED TABS (GALV) A709 gr 36 - - 1 SPLICE TUBE {FOR 8X4 RAIL) HSS 7x 3x 3/8 x 1-8.000° OAL w TAPPED HOLES & 2 WELDED NUTS (GLV} {flareback 10deg} | AS500 grB
3 |top rall SPLICE TUBE HSS 3x 3 x 6/16 x 1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) (angled down) A500 gr B Review is Onfy for general conformity to the 3 SPUCE TUBE (FOR 4X4 RAIL) HSS 3x 3x 5/16 x 1-8.000" AL w! TAPPED HOLES & 2 WELDED NUTS {GLV) {Eareback 10 deg} | AB500 o B
3 2nd rall SPLICE TUBE_HSS 3 3 x 5/16 x_1-8.000” OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) (angied down) AB00 or B contractdrawings and specificat: )
3 3rd rail SPLICE TUBE (FOR B%4 RAIL) H5S 7 x 3x &8 x 18.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) straight AB00 o B t rel; E &8 and specilications and shall 1 L4 |RaIL TUBE 8x 4 518 (GALY) 18°6.000° LG miter cut & weid for 7 radius AS00 gr B
3 bottom rail SPLICE TUBE (FOR 4X4 RAIL) HSS 3x 3x 5/16 x_1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) stmight | A500 g7 B notrelieve the contractor of his entire 3 L4 |RAILTUBE 4x 4x /4 (GALY) 18°5.000 LG miter cut & weld for 7 mdiss AS00 or B
resp 1hili ¥ - - L B .
R HEEERSETS T8 7 o see s st vl - 1,“})0]381[)]1“[-)’. L{udel lhu contract, including 1 END CAP FOR 84 TUBE 0.187 THIGK PLATE 8000 x 4.000 w WELDED TABS (GALY) AT09 0736
24 WOOD BLOCKOUT 6 x 8 x 22,500 TIMBER amc ]TE, other thi ngs, dimensions to be 3 END CAP FOR 4«4 TUBE 0.187 THICK PLATE 4.000 x 4.000 wf WELDED TABS (GALVY) A708 or 26
3 TRR__|WOOD POST 6 % 8 70" (for ihtie ansition w/ rub rall hole) TIMBER confirmed and correlated at the jobsite, and
3 WOOD BLOCKOUT 6 x 8 X 18.000 TIMBER information that pertaine & b 64 ROUND HEAD PDST BOLT sfol of wrench head - no shoulder ¥4~ DIA x 6 LG FLLL BODY {GLV) AZ497 RaZ5
3 R |WOOD POST 6 x 8 x 7-0° (for w-beam rall w/ ub rall hole) TIMBER . pertains to the fabrication 64 LOCK NUT 3/4" (GLV) 563 DH
3 WOOD BLOCKOUT 6 x B x 14.000 TIMBER P] QCesses or to t&‘t‘h I]It"{ ues Of ('Onstl'uctiun. 54 (3i47) PLAIN ROUND 'WASHER TYPE A (GALY) 0.750° DIA USS LARGE (HF-CARBON} FB44
16 (5/8") HEX HEAD BOLT (GALV} 0.625" DIA x 1.750" LG. A3
30 WOOD BLOCKOUT 6 x 8 X 4.000 (for fubrall blockout) TMBER 16 (5/8"y PLAIN ROUND WASHER (GALV) 0.625 USS LARGE FB44
E‘l DNAngé(C EPTIONS TAKEN ® 34" SPACER FIPE 0.750° DIA. (SCH 40X 1Z LG. A53EE
3 THRIE FLAT LIP BRIDGE SHOE (MODIFIED) 10 GA. GALV aashio M180 B2 C yTEe
3 THRIE TRANSITION PANEL 63"/ 31 1/2° 10 GA. GALV. aasnio 180 B2 § CO]%RECTION S NOTED | H G H W A
6 THRIE PANEL 126"/ 1°6 3/4" 12 GA. GALV. aashio M180 AZ E/RESUBMIT AL NOT REQUIRED I Y S A F E TY C O R P
GLASTONBURY, CT
120 ROUND HEAD POST BOLT slot or wrench head - no shoulder 3/4" DIA x 6" LG. FULL BODY (GLV) A449 [ A325 AMEND AND RES\UBMT 860-633—9445
120 LOCK NUT /4" (GLV) A563 DA ] REJECTED - SEE REMARKS
120 (3/47) PLAIN ROUND WASHER TYPE A (GALV} 0.750" DIA USS LARGE (H-CARBON) FB44 e e e anizey [ RUL DN e 3
T (5/8") HEX HEAD BOLT (GALV) 0.625" DIA x 1.750° LG, 2325 4 MERIC C ITEW 621.73 GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAIL BOX BuaM | )3 CERTIFIE
48 (5/8") PLAIN ROUND WASHER (GALV}) 0,625" USS LARGE Fed4 . TH1 EAST RIVER ROAD BRIDGE #19 < FABRICATOR
T 3/4" SPACER PIPE 0.750" DIA. (SCH 40) x /2" LG. A53 T B BY: - — TOWN OF LINCOLN, VT ADDISON COUNTY
3 ROUND HEAD POST BOLT slot or wrench head - no shoulder 3/4" DIA x 2° LG. (GLV) w/ HEX NUT A443 R BRF 0188 (8) Hsc 1os o,
38 ROUND HEAD POST BOLT - oval shoulder &/8" DIA % 1-6" LG, (GALY) w/ DBL RECESS NUT, FLAT WASHER A307 DATE: _‘E/L‘Zf@l_ﬁ [T G 2041
36 ROUND HEAD POST BOLT - oval shoulder 5/8” DIA x 1-6" LG, (GALV) w/ DBL RECESS NUT, FLAT WASHER A07 = =
96 PANEL SPLICE BOLT 5/8 x 1-1/4" (GALV) W/ DOUBLE RECESSED NUT A307 o LAFAYETTE 3 of 4
84 RECTANGULAR PLATE WASHER 0.187 x 1.750 x 3,000 (GALV) AT709 gr 36
DRAWN PAR CHECKED |nm: 03-27-15 |sw.: NONE |srzr D




CONNECTION PLATE '

top rail 5/16" above

%" ROUND HEAD
BOLT 6" LONG w/ HEX
NUT & WASHER (typ)

X

%"¢ x " LG,
BUTTON HEAD

SPLICE BOLT (20) TYP.
%"

95" x
2t SLOTTED
i (20) LOCATIONS (typ)
|
- |

HOLES

W x %
SLOTTED HOLES

5) LOCATIONS (% 1u 4 1n
(5) (typ) 4t .;i 2

-

R T———— | A
o

i 31"

iln (=] i 12, ‘:L =
potd Q Q — o—r—o
—u—:‘;‘—u/ /ﬁ—/_,i o | o S
o _, o 2" (min |
I !-1_%' 4;1-" !
L}

o

73

THRIE TRANSITION PANEL

10 GAUGE (AASHTO M180 B2)

15.063

-
7.438 8.000]

27.750

84.000
[7-07]

5000

6 x 8 TIMBER POST
WITH (3) 3/4"8 THRU HOLES

mk—4RR

—4- -
1
7.438

15.063

22.500

M

6 x 8 TIMBER BLOCK
WITH (2) 3/4"¢ THRU HOLES

8.000

6.875 E,UOO
11.375

—r—
|

—_———— - —
L

25.875

El

god

23.500

*

84.000
[7-07]

|ﬁ.000|
6 x B TIMBER POST
WITH (3) 3/4"@ THRU HOLES

84.000
[7°-07]

E@QI

6 x 8 TIMBER POST
WITH (2) 3/4"% THRU HOLE

mk—TRR mk—R

| s

| £ #3 8 ! _I:il-
g [+ 2 ST
il - S A e

l 6 x 8 TJMBEL BLOCK

6 x 8 TIMBER BLOCK
WITH (2) 3/4"¢ THRU HOLES

WITH (1) 3/4"@

THRU HOLE

SHALL INCLUDE THE TERMINAL CONNECTOR, THE CONNECTION PLATE, RAIL,

6" x 8" WQOD
N . OFFSET BLOCK
et wedterminal connector /I = N £ 8" WOOD POST
— " . - "
Ik, =V 21176 NpEasy/ rafme o s
CL Wb x 25 POSY . 1'—0 3/4" 3/8" I~ g HExl NOT* 2 ROUND [WASTieR
A _
/ R TO ST AL CORNECHS = = S 20" LONG AT DOUBLE NESTED RAILS
_4" 4" o ™ 18" LONG AT TRANSITION PANEL
=y I E‘ z
e ey 7 == T ol @ 5/8"¢ POST BOLT x 18" LONG
! [ | (E — — | B WITH PLATE WASHER,
o o S _::J ‘_..""’_- - Ge=m=ugn DBL RECESSED HEX NUT
5 2 o b “r = & ROUND WASHER
| 7 ok B — P ?
— 4 W ; ~ & ;i ~ LOWER RAIL TUBE i
= o H HEXNUT(t d 2 T
2 = J.) %’ é’ | “ g ——jfh—= T \ TIMBER OF 0 o
2 L | v, = FSET BLOCK »
i = b _| _I_! ] ~- ! FOR LOWER RAIL oy 8
- [~ 5 = OUTLINE OF TERMINAL : =2
l [ | \ CONNECTOR RS 1 5/8" =zD| o 7
= a0 - i ]
= ® @, i LOWER RAIL
¥ B : l” ! . L\\ \\ 4 x 6 TIMBER BLOCK
-g/ | i | \ WITH (1) 3/4"¢ THRU HOLE
et I - FOR LOWER RAIL
] | SECTION B-B SECTION A=A  |Please verify that
[} ! : 3/4 DIA HOLES IN WOOD FROM SHEET 3 FROM SHEET 3 H 3 .
CL 3/4 ROUND HEAD‘-'—H FOR 5/8 DIA POST BOLTS thls Chart 1S Stl”
POST BOLTS SPLICE BAR OK, after
DETAIL A S comments are
FROM SHEET 3
PORTIONS OF OVERLAPPING THRIE BEAM RAIL 13" (yp) STEEL POST CHART addressed
AND TERMINAL CONNECTOR - 1§ (e E / 3378 18" x 1" x 1" T8
ELIMINATED FROM THIS VIEW FOR CLARITY _.;\, —‘-‘— - * I / No. | A B c L
% ! PO1 [10.250 | 19.250 32.687 . i
=z = | ’ < 'Q i (typ)>1_/87-
g = i ! @ W 9 |—|>—l
i of 1 4 i P02 |9.125 | 17.312 30.750 il ‘ CALY. HANG HOLE
1, 3 [l 4 _ _ IN ONE TAB ONLY
N | ® 3 o o _++ 1 P03 | 8.000 | 15.437 28.750
3/4" x 2-1/2" SLOTTED HOLES 8 1/2° | ! 1/16*
(2) LOCATIONS AS SHOWN - oo ) \ 3/16"
1" HOLES (3) - 1 2 2" DIAGONAL il f PO‘4_ 6.675 | 13500 | 24.812 i e
LOCATIONS (typ) 4 (12) LOCATIONS (typ) / | i \ \SUBMITT AL REVIE END CAP (8X4) PLATE
! . . 3/16" x 8" x 4"
s : (8) 1.125" x 1.375" o | | (8) btpsiay
1 5 ; ; 4G5S - s g
. 2\ 2| 5 ERES RS ! ) & : HORZRBQTew is only forgeneral corformity to the
3 5 |e o o e = wexzs post— | ,I ﬁo&-g;actdrawingsand specifications and shall
S > 5 | | "I Rot relieve the contractor of his entire =
T 8le o ~ ' i responsibility under the contract, including b Ve
~ s TS 2 | ! among other things, dimensions tobe T o
o ( 2z 2| 7 : j confirmed and cc.'rrela_led atthejob glte,_and:, 3l r—i - e
b 2 8 . . L [ i information that perl;ams to the fabr[capon Bl ot J e
s g | 103/ 5 J' | processes or to techniques of construction. e Tk
26" -
¢ ¢ END CAP " (4x4)
TERMINAL CONNECTOR O NO EXCEPTIONS TAKEN PP ey
STEEL POST STEEL POST S NOTED
10 GAUGE (AASHTO M180 B2) === e =1EEL FPUSII ] MAKE CORRECTIONS NO%
AT WINGWALL 4 AT WINGWALLS ESUBMITTAL NOT REQUIRED
23" ,2&3 AMEND AND RESUBMIT
3", 8" -0 3/4" [0 REJECTED - SEE REMARKS
3 /4 =
4" . 4" " RIC Cu
1'-8
r TR { - D/} ¢! /5-_
o : [ 3 1. ALL BRIDGE APPROACH RAIL MATERIALS, DIMENSIONS, SIZES, AND NOTES
- *_L x i SHALL BE THE SHAME AS THOSE OF THE BRIDGE RAIL UNLESS OTHERWISE
‘;E) . o © ® q =4 - NOTED. SEE BRIDGE RAIL SHEETS FOR NOTES AND ADDITIONAL INFORMATION,
2y . ANGLED SPLICE Elevatio 2. CARRIAGE BOLTS SHALL BE ASTM A307, AND NUTS SHALL BE ASTM A563
Y © Ltlevarion
k —o-— -\l T GRADE A OR BETTER (GALVANIZED).
5 5 =) (=) = 3. WELD SPLICE BAR AND RAIL TUBES TO FIT BEND. USE COMPLETE JOINT
“P e ANGLED SPLICE DIMENSION PENETRATION BUTT WELD (B-U2).
o SEE SHEET 2 FOR ADDITIONAL SPLICE DETAILS
—)\ 4. PAYMENT FOR GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAIL BOX BEAM
3" CHAMFER

\- 1"9 HOLE (9) \ 3/4"¢ HOLES
LOCATIONS (typ) ~ (2) LOCATIONS ONLY

CONNECTION PLATE

3/8" x 1'-8" x 2'-3"

TOP SPLICE

SECOND SPLICE

.687"

.375*

NOTE;

THIRD SPLICE TO BE PROVIDED
STRAIGHT DUE TO A VERY
SHALOW *'X"" DIMENSION,

POSTS, BLOCKS AND ATTACHMENT HARDWARE.
5. ALL APPROACH SPLICES SHALL BE LAPPED IN THE DIRECTION OF TRAFFIC

B. SEE SHEET 3 FOR ADDITIONAL MODIFIED APPROACH DETAILS AT WINGWALL 4

—

3

HIGHWAY SAFETY CORP

GLASTONBURY, CT
860-633-9445

ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM

ITEM 621.75 GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAIL BOX BEAW
TH1 EAST RIVER ROAD BRIDGE #19

TOWN OF LINCOLN, VT ADDISON COUNTY

BRF 0188 (8)

)gCERTIFIED ‘
< FABRICATOR|,

KEC JON WO,

e 20417

(508 CONTRACTOR PR
LAFAYETTE 4 of 4

AR 7T ™™ 03-27-15 ™ woe | D




(8) 8810 4M1

Jaquinp Joefoid 1A ‘ujoousT

uonelsodion Ayojes AemybiH

awep 108loid

G1-0¢-€0 ajeq pajijenp-aid "OuU YOd Buipoddng
avlpey |ned :Ag paledaid 0 ‘OU UoIsinay
LSt 11SOdd3dIA-M  ©USam

S'Ld SMY uonips js8jg| Jo g uoljoas
Ul USAIG sajqelieA JO Uoh}WI 8U) UIUIM 0} ‘8zis ssed ‘dn-)lj ‘aouanbas uopeoliqe) 0} anp Auea Aew ainpasold siy |

| _ | |

_

11972

O

§10Z ‘4 4dy ‘wd zzizL Je (sn-in-aye)s@.e)o-yal) yie1d yor Ag

dinoyddy

O

oL/s

| —

G2 XM

(
O oL/L

-
O E

w51 f 1

€900 cel WwILIL
c* A 0+
wdi g1 A 62 VvV 00€ uw€90°0 2 wW9L/S
paads S)OA saledwy 82Is "ou 2218
[lejap juior [oABI L sieyeuieled bUpBp\ | @posoe|g ssed PIaM
FHNAIO0Ud ONIATIM

Wi ¥ PiE uoisusixs apojos|3
9UON juswijeal; Jeayisod

(40522) w2/1-2 NAWY ,Z/1~} 49A0 : ( 45051 ) uZ/L-L NIY] $/E JOA0 [ (d,06) .PIE 0} dn |ejawl aseq

jejaw aseq ues|o

siabuiysg

alnjeladwse) ssediejul pue 1eeysid

jusuwieal) Jooy

uoissaiboid Buipopn

aAnisod apoujod|a - asionay

d30da

a|Buig

a|dnjniy Jo ajbulg

Aelod

jua.Lnd BuipiapA

ole s[diinw Jo abulg

W40 Sy-6¢€ ejel Mol

VIN

9G-1 PIOA U|OSUIT DH)09]3 UjodUIN

9-S0.y4

81°SV SMV

(42) 1ejuoziioH 1o (41) yel4

JljewoIny-1woes

209 %L 1 uobiy 9,98
Jainjoejnuews pue xXnj4

ssed sjdnjnw o sjbuig
seb buipjelys

lainjoenuew pue aposo8|3
uonesyisselo eyl 18I

uoneouoads [elewW J8jj14

Buipom Jo uonisod

Jajsuel] Aeidg (MYIND) Buip|apn 04V [BIBIN SeD

0S 19 60.Y ‘0S 1B Z.GV

DJBWIOINE JO 'DlJRLIOINE- WSS '|enuep

sso00.d Buipjopa

uoneouoads jelsyen

uoneaisadg ainpasold Buipjop
19 ‘Ainquojse|o

uonelodion Ajajes AemybiH




(8) 8810 448 1aquin josfoid 1A ‘ujooury awe sloid

SL-0¢-€0 9jeq pajljenp-aid '0U YOd burpoddng
9oIpey |ned :Ag pasedald 0 ‘OU UOISINSY
uonesodion Ajajes AemybiH lojesiige MOGMOA-AN  ©USdMm

1'Ld SMV uonipa jssje| Jo G uoijoes
ul uaAIb sa|qeueA Jo uole)wl By} UIYIM "0J8 ‘azis ssed ‘dn-}iy ‘aousnbas uojeosuqe) o} anp Aiea Aew ainpaoosd sy

| _ _ _ |
GL0Z ‘L 4dy ‘wd §Z:Z} je (sna-oyeis@yieloysl) yieid yor Ag

d3inoyddy

b — fe——

oSV
49-e2n-9 2 z¥ | 0¥
wd 51 A 62 v00e | .£€900 !
paads S)IOA sajodwy 2zIs ‘ou 8zIs
jleyap juior ELIRR sJ9)oweled Buipjopn | aposjosi3 ssed PIeM

FAENAIO0Ud ONIATIM

Pl ¥ W VIE uoisuaixs apoljos|3g

SUON Juswijeal) Jesy}sod

(4008) ..b/¢ 01 dn ejow aseq alnjeladwsa} ssediajul pue Jeaysid

jejaw aseq ues|o Jusuijeal} Jooy

siabulyg  uoissaiBboid Buipjopn

aAnisod 9pouj0a|9 - asIanay Aejog

d300 Juauns Buip|spn

ajbuig a1e aydyinw Jo a|buig

ajbuig ssed sjdinw Jo s|buig

IN4D S¥-S¢E Sjes mol4 209D %pl | uobay 9,98  seb Buipjaiys
V/IN Jainjoenuew pue xn|4

9G-7 PI3M UJ02UIT 214398]F UjOdUIT Jainjoeihuew pue apoljos|g

9-S0,43 uoyedyisselo [ejsw 49)|l4

81°SV SMV uofjeslioads [ejow Ja|iI4

(42) rejuoziioH 1o (41) Jel4 Buipjam jo uonisod

J1jewoINY-1WBS JljEWIOINE JO ‘DIJBLIOINE-IUSS ‘[enuey

{MVIND) Buipjap 21y [e3olN seD ssa001d Bulple

g 16 00SY WLSY uoneoloads [eusiep

:O_umo_m_own_w ainposdo0.ld m:_ﬁ_m>>
19 ‘Aanquojse|o

uoneiodion Ayajes AemybiH




